Nikolina Krnić

MODUL 1  (EXAM  QUESTIONS)- SEMESTER ONE
1.) Name the ways in which the term <common law> is used.
a) It is law which is common to the whole country-national law in contrast to local law.

b) It is law which is based on judicial decisions (case law) in contrast to the law which is made by Parliament (statute law).
c) It distinguishes the common law legal systems based on precedens from civil law jurisdictions based on civil codes.
d) It comprises the rules developed by the common law courts in contrast to the rules developed by the courts of equity.
2.) Give an example of a country with a legal system based on a civil code.
Croatia, German, France….

3.) Define the concepts <criminal law> and <civil law>. Give examples of actions which fall into each category.
A simple distinction between the criminal law and the civil law is thath the civil law regulates the relationship between individuals or bodies and the criminal law regulates the legal relationship between the state and individual people and bodies.

The first practical difference is seen in the parties to the legal action. A civil case will involve two ( or more) individual people or bodies whilst the parties to a criminal case will be the state and an individual person or body.
Examples of the civil law include the law of contract, tort (literally meaning <wrong>) and property. I decide to buy a radio from local shop. I pay the correct price and take the radio away. After two days the radio fails to work. This is a common situation and usually the shopkeeper will replace the radio or return my money. If not, I may wish to take legal action to recover my loss. As the law of contract is part of the civil law the parties to the action will be me ( an individual) and the owner of the shop ( an individual person or body).
Examples of the criminal law. This is the law by which the state regulates the conduct of its citizens. Criminal offences range from the petty (parking offences) to the very serious (murder, rape). I am driving my car at 70 m.p.h.(miles per hour or 112 kolometres per hour) in an area which has a speed limit of 40 m.p.h.. I am stopped by a police officer and subsequently a case is brought against you for dangerous driving.

4.) Outline the developments which led to the establishment of a common legal system.
Prior  to the Norman conquest in 1066, the legal system was decentralised. It consisted of local courts, the borough, shire and hundred courts, each applying its own local customary law. The Norman kings could have adopted this system by allowing the baron to whom a region has been given to run the court in that region. Indeed, by taking the office of sheriff and with it the administration of the shire court, some barons tried to do just that. However, the fear that barons would become provincial princes rivalling the power of the King was one of main reasons which led to strategy of judicial centralisation under Henry II (1154-1189). His reign saw the creation of a permament royal court of King’s Bench as it becam known , sitting in London and manned by specialist judges. In addition, the King commissioned officials, usually judges of the central court, to travel round a circuit of the regions hearing cases. These regional hearings were known as the assizes and dealt with both civil and criminal cases. Central control over the law was ensured by the procedure under which the legal issue in a case cold first be decided by the royal courts in London, and then the legal ruling would be taken by the travelling judge to the region concerned where the facts would be tried and the ruling applied to the facts found at the trial. This strategy enabled the royal judges to apply common legal principles to most parts of the land- the term common law which is still used to describe judge-made system of law.
5.) Outline the reasons for the establishment of the original courts of equity.
In the Middle ages, the courts of common law failed to give redress in certain types of case where redress was needed and how the disappointed litigants petitioned the King, who was the fountain of justice. The King through his Chancellor eventually set up a special court, the Court of Chancery, to deal with these petitions, and how the rules applied by the Court of Chancery hardened into law and became a regular part of the law of the land. The most important branch of equity is the law of trust, but equitable remedies such as specific performance  and injunction are also much used.
6.) Which court was the principal court for the administration of equity and who was its head?

The principal court for administration of equity was the Court of Chancery and its head was Kings Chancellor.
7.) What are the underlying principles of equity?

Equity is based on fairness and justice.
a) Equity will not suffer a wrong to be without a remedy. Equity will only intervene when there is no adequate common law remedy.

b) Equity follows the law. Equity recognises legal rights and does not take the place of the common law.

c) He who comes to equity must come with clean hands. A litigant who has behaved unfairly in the dispute will be denied an equitable remedy.

d) Equitable remedies are discretionary. Litigants do not have a right to an equitable remedy. The courts will decided whether to grant a remedy after considering the individual circumstances of each case.
8.)  In a case of conflict between a rule of equity and a rule of common law, which will prevail?
In cases of conflict or variance between the rules of equity and the rules of common law, the rules of equity should prevail.
9.) Give three equitable maxims. = 7. pitanje

Equitable maxims are set of rules, developed by the Courts to govern the applications of equity. These maxims are the reasons why we continue to distinguish between common law and equity.
10.) What is the significiance of the Judicature Acts 1873-1875?

As a result of the Judicature Act 1873 the old courts of common law and the Court of Chancery were abolished, and in their place was established a single Supreme Court of Judicature, each branch of which had full power to administer both law and equity. Also, common injunctions were abolished and instead it was enacted that in cases of conflict or variance between the rules of equity and the rules of common law, the rules of equity should prevail.

11.) What are two classifications of English law?
Civil law and criminal law.

12.) Name the three organs of government.

Three organs of government are: executive (cabinet), legislature (parliament) , judiciary (Lord Chancellor). In the UK the monarch ha san important constitutionali role as head of state, he is the fourth organ of government.
13.) What are the two elements of the doctrine of parliamentary sovereignty?

1.) that Parliament may enact any law it wishes, and

2.) that no authority, including the courts, has the power to question the validity of the legislation.
14.) Outline the theory of the separation of powers.
This theory was particulary developed by the French political scientist Montesquieu. He says that executive, legislative and judical powers shouldn’t be united in the same person, or in the same body of magistrates, because there can be no liberty.

The reasons for this theory are, if the judicary power not be separated from legislative and executive, there is no liberty, subject would be exposed to violence and the oppresions.

The theory has been criticised for being purist-that is model to which British system of government does not conform. Members of executive are members of lefislative- the head of the judiciary , the Lord Chancellor is a member of the Cabinet.
Montesquieus theory should be seen as prescriptive rather than descriptive, its essence being that no one person or body should have full control of all three functions of government. In particular, the courts should be independent of the executive and legislature so that the judges can ensure that these bodies do not exercises their powers arbitrarily.
15.) Does the judiciary have any control over the actions of the executive?

The process of judical review is a practical application of the rule of law. It forms the basis of a growing body of administrative law which the regulates relationship between the courts, public administrative bodies ( including the executive) and individual citizens. Judical review does not enable the courts to questions the merits of administrative action or the validity o fan Act of Parliament.
Three standard tests by which the courts can judge the administrative actions to be ultra vires (in excess of power) are: illegality, irattionality and procedural impropriety. The efects is to render the action voide, that is has no legal effects. It is treated as if it had never existed.

16.) Would a Bill of Rights change the role of the judiciary?
The effects of Bill of Rights on the parliamentary soverginity is that Parliamunt would no longer be sovereign if the judicary would be able to overdreve his decisions, and the effect of Bill of Rights on judicionary would hold legislative or executive actiones to be invalid if they contradict ro Bill, The Bill of Rights would necessary entrench one set values at the exspens of anothers.
17.) Why might statutes be ambiguous and uncertain?
It could be abstract, open to interpretation, and that’s very dangerous.
18.) What legal status do canons of statutory interpretation hold?
Judges do have an important role in relation to legislation: Parliament passes the laws, and the courts apply them to individual cases. But befor the law can be applied the judges must decide on its meaning. This process is called statutory interpretation.
19.) What is meant by the expression <the intention of Parliament> ?
When interpreting statutes the courts are said to be seeking the intention of Parliament. This search is as difficult as that for the ratio decidendi of a case. Parliament comprises many individual members of Parliament who may have different views on any one subject. Seeking the common intention of such a disparate group would be a speculative and impossible task. In this sense the intension of Parliament is a phrase with little meaning.
20.) Give an example of a case in which the literal rule was applied and brief summary of its application.
Literal rule was used in case London & North Eastern Railway Co. V. Berriman ( 1946.) when literal and usual meaning of words reparing and relaying reached different conclusions. This gives a clear illustration of the difficulty in determing the meaning of what might appear to be very simple word. The plaintiff’s husband was killed whilst oiling and cleaning the railway points. No warning system had been provided. The Hous of Lords, by a three to two majority, held that Mr Berriman had been engaged in maintaining the railway line at the time of his death and this was not the same as <repairing and relaying>it.
21.) What criticisms can be levelled at the literal rule?
An excess of judicial creativity would lead to individual judges determining what is right and just. This could result in accusation of bias and prejudice.

There has been a general criticism of a strict adherence to the Literal Rule. The Law Commission report The Interpretation of Statutes approved the use of the Mischief Rule preferring a construction which would promote the general legislative purpose over one which would not. 
22.)  Explain the basic recommendations of the Law Commission’s report on the interpretation of statutes.
Law commissions report aproveds the use of the Mischief Rule prefering a construction which would promote general legislative purpose over one which would not.
There are several presumptions which a judge when he is called upon to interpret an Act like

· that the Act applies to the whole UK, but not further

· that the Crown ic not bound

· that the statute is not retrospective

23.) Give two examples of the presumptions used by the courts when interpreting statutes.
There are several presumptions which a judge when he is called upon to interpret an Act like

· that the Act applies to the whole UK, but not further

· that the Crown ic not bound

· that the statute is not retrospective

Given that words are an imperfect means of communication a number of aids have evolved to assist judges in the interpretation of statutes. The next extract provide san outline of some of these aids but statutory interpretation is not a scientific and these rules of interpretation are general principles rather than strict rules.
24.)  Define the following terms:

a)  distinguishing

b)  per incuriam

a) DISTINGUISHING- this occurs when the facts of a later case are sufficiently different to justify the court reaching a different decisions from an earlier case involving the same legal principle.
b) PER INCURIAM- means throught lack of care- generally when some relevant law was not taken into consideration.
MODUL 2 ( EXAME QUESTIONS)- SEMESTER TWO

1.) Distinguish between courts of first instance and appellate courts.

First instance court is a trail court where case is heard for the first time , and Appeal court is a court where a parties in the proces make petition on verdict. Part who appeals is appellant, other party is responder.
2.) Which courts are courts of first instance and which appellate courts.
Appellate courts:  Court of Appeal, Hous of Lords 

First instance: country courts, magistrates courts

Both: Crown Courts, High Court

3.) Name the division of the High Courts which adjudicates on disputes over wills.
In 1970, wills went to the Chancery Divisions and wrecks to the Queen’s Bench Division.
4.) Give the titles of the judges who will hear an appeal in the Civil Divisions if the Court of Appeal.

Master of the Rolls and the Lords Justices of Appeal.

5.) Prior to the Courts and Legal Services Act what was the financial limit on contract and tort actiones which could be heard in the country courts?

The jurisdiction of the courts is limited by the tipe of case and lower courts, by geography and the amount of the claim. For example, the country courts are limite in tort and contract cases to incidents which occurred within their locality and to claims which do not exceed £5000.
6.) Why are financial limits an arbitrary way of distinguishing between cases?

Cases are different in seriousness and complexity and court system should take account of that fact. For example, action for the recovery of a £ 200 debt will require different procedure from a dispute over a commercial contract involving a complex point of law and a claim for £ 500,000 damages. The majority of cases are not complex and it is important that the system provide san efficient means of resolving these disputes.Within the formal court system this is done through the country court arbitration service.

7.) What was the original purpose of the country courts?
Country courts were set up in 1846 to provide a locally based service which was easily accessible to ordinary people. Country courts had become primarily a debt-collection agency in which the majority of actions  were take out against the ordinary person, it was the court in which the ordinary person was sued for debt.

8.) Why have they been criticised for failing to fulfil this purpose?
It has been criticised for still being too complex and because country courts procedure had became too formal and expensive to fulfil its original purpose.
9.) What is the title of the person who will hear cases in the small claims courts?

The case is heard by the Registrar of the county court ( an assistant judge who is employed by the court and whose role is administrative and judicial).

10.) What are the two major criticisms of the system of civile justice?
An efficient system whick is quick and cheap may not provide an adequate opportunity for the litigants to prepare and present their case. Equally , delay and expense can lead to injustice. Costs and delays are les sin the country courts but they leave no room for complacency.
11.) How will the Courts and Legal Services Act change the jurisdiction of the civil courts?
The Act gives the Lord Chancellor the power to redistribute business between the High Court and the country courts on the basis of the complexity of individual cases. The financial limit of £5,000 for cases heard by the country courts is therefore removed.

The Courts and Legal Services Act also enacts the proposal in the civil justice review that the role of the Registrar is small claims actions should be more inquisitorial. It also gives a statutory right to litigants to be represented by a lay person.
12.) What is the burden of proof in: a) civil actions; b) criminal actions ?

 One way in criminal actions is that the burden of proof is one the prosecution to prove beyond reasonable doubt that the accused committed the offence charged. This can be compared with the burden of proof in civil actions where it is for the plaintiff to show that the defendant is liable on the balance of probabilities, that is the defendant is more likely to be liable than not.

13.) Can a private individual bring a prosecution?

Yes even it is not usual. The general rule is that any private individual can bring a prosecution even if the individual has no particular interest in the case. This is usually referred to as a private prosecution. The greatest number of prosecutions, however, are brought as a result of  action instigated by the police.

14.) Which body was responsible for prosecutions before the creation of the CPS ?
Until recently the police made the final decisions to prosecute in the cases they were dealing with. Moreover, the police effectively controlled the prosecution, and in some magistrates courts police oficers actually appeared as advocates. Solicitors had to act in accordance with the instructions of chief constables, even if the solicitors felt that a prosecution was unwise.
15.) What limitations are placed on the jurisdication of tribunals?
The limitations is that tribunals can only take cases which are specifically relevant to it. There are over 50 different types of tribunal, each with its own limited jurisdiction over a particular type of claim.

16.) Define hierarchical.
There are some features of the court system which are naturally reflected in the nature of the English judiciary. First, it is hierarchical with judges in the higher courts having more authority than those in the lower courts. Secondly, most judges will hear both civil and criminal cases. Judges in the House of Lords and the Court of Appeal heare only appeal cases,whilst judges in the High Court and Crown Court have first instance and appellate jurisdiction.
17.) Which judges have the most authority.

House of Lords- they all have the most authority although they are not all judges. They are appointed by the Prime Minister on the recommendation of the Lord Cfancellor who is also the president of the House of Lords. They will usually be promoted from the High Court although it is possible for a barrister of fifteen years experience to be appointed without previous judical experience.
18.) In which court do puisnes judges sit?

They are appoined by the Queen on the recommendation of the Lord Chancellor. High Court judges are sometimes referred to as puisne judges. There are maximum of 80 High Court judges. The Lord Chief Justice heads the Queen’s Bench Division, the President of the Family Division the Family Division and the Vice-Chancellor the Chancery Division. A single judge will hear a case at first instance; two or more may be required to sit in an appeal case.
19.) Distinguish between lay magistrates and stipendiary magistrates.
Stipendiary magistrates
These are full-time paid appointments made by the Queen on the recommendation of the Lord Chancellor. Barristers or solicitors of seven years standing quality for appointment. There are about 100 stipendiary magistrates. They sit in the magistrates courts in the larger cities, particulary London. A case will be heard by a single stipendiary magistrate.
Lay magistrates
These are part-time, unpaid magistrates often know as justices of the peace. They are appointed from ordinary members of society by the Lord Chancellor. They are not legally qualified although they do receive some basic training. A case will bw heard by the bench of three lay magistrates who are advised on the law by the clerk of the court. There are approximately 25,000 lay magistrates and they hear over 90 per cent of criminal cases.

20.) Do judges play an active role during the course of a trial?
The judical fuction is to seek the facts of a case and apply the existing law to those facts. The judges role in seeking the facts is very limited. This is not to say that judges must be totally passive;they may, on occasion, question the witnesses and they must control the proceedings according to the rules of procedure and evidence, but they must not intervene excessively. Their role is that on the impartial adjudicator-reaching a conclusion only on the basis of the evidence presented to them.
21.) Name two ways in which judges make law
Where is no precedent they make new; interpreting statutes; deciding weather to extend or restrict on existing legal principal.

22.) Does Lord Denning trust the judges?
Yes, because he is also a judge. Lord denning placed great faith in the judges as a check on the misuse of power. ˝ The judges of England have always in the past-and always will-be vigilant in guarding our freedoms. Someone must be trusted. Let it be the Judges˝.

23.) Does Professor Griffiths trust the judges?
No, probbably no. Professor John Griffiths in his book The Politics of the Judiciary (1985). He took a broad view of the factors which influence judicial independence. In particular, he argued that the common background of most judges led them to identify the public interest with the interest of those in authority. Professor  Griffiths is over his assumption that the conservative nature of the judiciary leads to an inability and disinclination to control the abuse of power.
24.) Which civil actions may be heard before jury?
· libel and slander

· malicious prosecution

· false imprisonment

· fraud

· breach of promise of marriage or seduction (both actions now abolished)

25.) Who has issued guidelines on jury vetting?
The Attorney-General has issued guidelines governing the use of jury vetting.

26.) Does the defence have a right to peremptory challenge of a potential juror?

In England no, in USA yes.

The right of the defence to three permptory challenges was removed by the Criminal Justice Act 1988 on the grounds that the process was often used to pack a jury with people who would be more sympathetic to the defendant.
27.) Why might jurors dislike jury service?
The compulsory element in jury service is disliked by jurors, particulary when allied to the inadequate compensation for loss of earnings for the higher-paid. This would seems to be a task for which juries were not designed and for which they are ill-equipped.
28.) What are shadow juries?
Much of the research concentrates on acquittal rates and the levels of perverse verdicts. Some studies have shown that judges and shadow juries agree with 75 per cent of jury verdicts. Juries are twice as likely to acquit as magistrates. Acquittal rates are, of course, only one way of assessing the adequacy of trial by jury; how do we judge whether an acquittal is wrong? For example, the Home Office research could suggest that magistrates are convicting innocent people rather than that juries are acquitting the guilty.
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